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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

)
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(i11)

(iv)

(v)

(vi)

(vii)

All questions in both the sections are compulsory.
Marks for questions are indicated against each question.

Question Nos. 1 -4 and 13 - 16 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

Question Nos. 5§ -6 and 17 - 18 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

Question Nos. 7 -9 and 19 - 21 are also short-answer questions carrying
4 marks each. Answers to them should normally not exceed 70 words
each.

Question Nos. 10 - 12 and 22 - 24 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A
1. fFfefigd § € hiwa @i o1 IF-81 °1Y dr=eie gfd gundr g ?
(w&l faeheq giw) 1
(31) 0
(@) 05
=) 10
(/) 15

Which of the following measures of price elasticity shows elastic supply ?
(Choose the correct alternative)

(a) 0
(b) 05
(c) 1-0
(d) 15
2.  37IHL AN <kl gty dfSu | 1

Define opportunity cost.

3.  3cdTed % fohE TR W $d AN 3T oA R NG Teh THH Bid & ? 1
At what level of production is total cost equal to total fixed cost ?

4. TfaRad # SHE-A1 T a%g % qfd 95 § (G@hE &l BRI 737 7 ?

(F&l Taeheq giw) 1
() ATTE I HiEa

(%) a%g 1

(|) a5 U gal W

()  isien wgrmal

Which of the following does not cause shift of supply curve of a good ?
(Choose the correct alternative)

(a)  Price of input
(b)  Price of the good
(c) Goods and services tax

(d)  Subsidy
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5. T UM T 20 Ui $hIS <hl hiHd W Th I&g hl 200 AT Gllear g |
Hi1 i i A= () 27 | fohg Fhmd W I8 300 $R1E @lied S AR BT 2
gRehe HINT |
A consumer buys 200 units of a good at a price of ¥ 20 per unit. Price

elasticity of demand is (-) 2. At what price will he be willing to purchase
300 units ? Calculate.

6. ‘T IcuTeH ToRam STU ST Tenal UM W % 9 H e ¥ IHEIT HHEATST |
Fan

fopt aftfeafaa o Scare dwTaAT sk qa-fag @ X Rawe Tkt 2 2 aweisy |

Explain the central problem of “What is produced and in what
quantities”.

OR

In what circumstances may the production possibility frontier shift away
from the origin ? Explain.

7. O St § “wni o FHatg yaw iR Bied i Waadr - JHE SHes |

Explain the implications of “freedom of entry and exit of firms” under
perfect competition.

8.  If¢ Ueh IUWIdT hi ™ T 100 7, G 98 & I&E X AAT Y 56T LAl g Toehl
ST HAN: T 10T T 58, A1 39 SUMIHT hl s {1 1 Tfiehor feafa |

HAYAT

gfcreemad sl €@ G i IR ST | Tk IEREE a5 T 39T Fa8R
HAATRY |

Write a budget line equation of a consumer if the two goods purchased
by the consumer, Good X and Good Y are priced at ¥ 10 and ¥ 5

respectively and the consumer’s income is ¥ 100.

OR

Define marginal rate of substitution. Explain its behaviour along an
indifference curve.
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9. Ul yfcEfiar § Icureeh T i Id A9y | 4

Explain the conditions of producer’s equilibrium under perfect
competition.

10. 3fiEd Yiadi am ok, SfEd Hol @ dsh SR HH AR 9k U &
@I § S | T AFTd 95k ST 3f1Ed aiad] a9 e . ArTd
Fohi o o9 TG FATET | 6
Draw Average Variable Cost (AVC), Average Total Cost (ATC) and

Marginal Cost (MC) curves in a single diagram. State the relation
between MC curve and AVC & ATC curves.

Fig:  [HEiRad gu7 FacT GIPET ahemidEr & g IvT G&7 10 % T W8

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 10.

JtEd aied! @0, fEd $a ard AR HiHa arrd fe@td gu s drfereht
IR IR | arfereRt @ YR W Hiutd anTd iR Sfted aited! antd 9 SfiEa

$ AN o sie qoY THIAST, | 6
Prepare a schedule showing AVC, ATC and MC. State the relation
between MC and AVC & ATC on the basis of the schedule.

11.  =gqaw hiwa @ R 1 o7ef awensy | =Jdad hma dE Fuior % gvE

AT | 6
AYAT
Teh I HT IR Ao B 3 | 9 sl 70 # Ff oAt | 39 ufed &
EATEG THE THSATT, | 6
Define price floor. Explain the implications of price floor.
OR

Market of a good is in equilibrium. Demand for the good ‘decreases’.
Explain the chain of effects of this change.

12. T NS haet Qf a&qel X 37T Y T IUHIT Kl B | STt foweisor gr
YR Tt <hl 310 THST | 6
A consumer consumes only two goods X and Y. Explain the conditions of
consumer’s equilibrium using Utility Analysis.
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SECTION B

13. EHY AMY(d i TRATT T |
Define aggregate supply.

14. ggT <1 gfd % M; AT % I ©hi o 10 a3 |

State the two components of M; measure of Money Supply.
15. QU Sehi gRI €TE o 388 i giar 2 :

1) Rfaa T fify eI (CRR)
Hifafees Iy (Aadr) 9 (SLR)
IR ST

q) ST ot

Credit creation by commercial banks is determined by
(Choose the correct alternative)

(a)  Cash Reserve Ratio (CRR)

(b)  Statutory Liquidity Ratio (SLR)
(c) Initial Deposits

(d)  All the above

16. RUITcH STel UM (STRIAT3) T Ueh 3T ST |

Give one example of negative externalities.

17.  Tar qores 1 aftwrer ST | frar ok don €iHTa SuH Sgi % Se dey
HHEART |

Define investment multiplier. How is it related to marginal propensity
to consume ?
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18. 3fud 3eEwn afgd, Tish 99T JaTg Uiad! & ste 3Tal TI5 <hIfY | 3
AAAT
USTa aEqenl § I AU B 2 SUANT Seget ¥ A fohd wer fu g 2 3
Distinguish between stock and flow variables with suitable examples.

OR
What are capital goods ? How are they different from consumption goods ?

19. YIIRE U9 & 7 AMMIE 7 2 TR U9 3R ING 399 o S IR
«drsq | 4

What is ex-Ante consumption ? Distinguish between autonomous
consumption and induced consumption.

20. Hifgws fifa @ w1 i @ 2 Mg Hifd & w5 A7 T1y9= sqmET | 4

What is monetary policy ? State any three instruments of monetary
policy.

21. Toreft srofegeen § ol TR 1wt €T | 9ol TR ST TR W wHm
wi % w9 @ s A feuty 1 i AR 4
HAAT
3 & HqeH T 1 (U0 et g1 Jehfoush alich T & ? $hT 3T9H |
FI1 GaY B ? 4
Define full employment in an economy. Discuss the situation when

aggregate demand is more than aggregate supply at full employment
income level.

OR

What are two alternative ways of determining equilibrium level of
income ? How are these related ?

22, fymfafea =1 s1ef o1 wam # foe=m hifw 6
()  Tua fafma o
(i) o (A=) fafm
(iii) vt foxet fafma &
Discuss briefly the meanings of :
1) Fixed Exchange Rate

(i1)  Flexible Exchange Rate
(iii) Managed Floating Exchange Rate
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23. THN SO W FT ANMIN B ? $6h THE Teh THAET |
AT
TR S o () |TEET T 3MaeH AR (@) 3nfdfer feoran 3ev amesy |

What is government budget ? Explain its major components.

OR

Explain (a) allocation of resources and (b) economic stability as
objectives of government budget.

24.  (31) YA AfRIY, IR (9) =W A HT Uieha HIFT

(T #gl 4)
(i)  HHSETRET 1 gl 2,000
Gi)  Tortmm i = 800
(i)  STIIT 120
Gv) Tm 460
(v) T/ Yt sl 3THM 100
(vi)  3Tfeies Tgman 20
(vil) —ATHTS 940
(viii) Afeaia ama 300
(ix) Torewi =1 o e o 150
x) Tufsa e 200

Calculate (a) Operating Surplus, and (b) Domestic Income :

(< in crores)

) Compensation of employees 2,000
(i)  Rent and interest 800
(i1i) Indirect taxes 120
(iv)  Corporation tax 460
(v)  Consumption of fixed capital 100
(vi)  Subsidies 20
(vii) Dividend 940
(viii) Undistributed profits 300
(ix) Net factor income to abroad 150
(x) Mixed income 200
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